
Chapter 1 – Spaces/Chapter 17 – Annihilators problem 7, p. 26

Since V and V ′ are isomorphic (they are both n-dimensional), their counts
of m-dimensional substaces are equal. The mapping m → m0 together with
theorems 1 and 2 then fashions a bijection of the m-dimensional subspaces
of V with the n − m-dimensional subspaces of V′. Injectivity: suppose
m0

1 = m0
2. Then by theorem 2, we get m1 = m2. Surjectivity: let m′ be a

subspace of V′. Then ((m′)0)0 = m′, again by theorem 2.

Finite-Dimensional Vector Spaces – Halmos ISBN10: 0-387-90093-4


